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wpplkkk [ F ] kbl

No. 7 12 23 30 33 &&t HI=E
E F A CSR GSR GSR CSR GSR NE sz
17 H # dofk fokk skolok dokk kkk 15 1 P
18 Bk BX dokk okk bk bk kkk 14 3 P
19 3ER =— Rk ko kokk ok kkk 13 6 P
20 = = kkk  kk %k k *kk *xk 11 QP
21 AiIx XX skk ook kokok kkk kkk 15 1 P
22 Il 59 Kk kokk *xx 8 14
24 Mg IE3E ok Hokok 5 16
25 Nk * ok ok ok ckkk kk 10 11 P
26 X8 & kkk KKk kk kkk kkk 14 3P
271 tER”RK T dokok ok sokk kk kkk 14 3 P
28 17_{&&.5] xEEH dokk ok ckk skkk k13 6 P
29 &£& #©8 fkk kkk k k dkkk 11 9P
30m2 R * ok ok x*x %  x 6 15
31 mMEE % Rk Rk cklok k% 12 8 P
32 # L+ —HH fk ckkk ok okkk k 10 11 P
33 FEE [E& *ok fkk ok kkk 9 13
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spblokkk [ BEIRAE ] kkrkbolok

No. 7 12 23 30 33 &t #HIFE
E F A4 CSR CSR GSR GSR CSR [[=Liva
17 A & sokk kokok $ok * 9 4P
18 B Bk * % *k %k % 6 8
19 R — fokk  kok * 6 8
200 =t %% fokk kK * *x ] bHP
21 AiF Xk xkk  kk kkk kkk kkk 14 1P
25 Mk B * ok ok oxk 9 10
26 X8 F * *kk * *x ] HP
271 "R K FBH dokok sk cokk kk k13 2 P
28 {EAR EZEB * * 2 1
20 L@ 2B %k k% % x%x [ G§HP
31 Fg4E g % kkk kkk kkk xk 12 3P
32 #+ —BH * % 2 11
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& H Cha cha

17 £H # 12 7 6 2 20

20 = =3 4 4 4 4 5 4.0

21 A XX 36 3 51 30

26 B & 6 7 5 3 3 50

271 k"R R}k 2 111 4 1.0

20 5@ 28 7 3 6 2 7 10

31 FEfE X 5 5 2 7 6 6.0

& H Samba

17 £H # 12 7 2 7 20

20 = =3 3 3 56 5 50

21 A XX 4 4 4 1 1 3.0

26 XA & 5 7 3 7 2 6.0

271 k"R R}k 2 11 3 4 1.0

20 ££@ 28 6 5 6 5 6 7.0

31 FEfE X 7 6 2 4 3 4.0

& H Rumba

17 £H # 1 2 4 7 6 4.0

20 = = 3 4 6 5 7 6.0

21 A XX 4 3 2 1 1 1.5

26 XA & 6 7 7 6 2 1.0

271 k"R R}k 2 11 3 4 1.5

29 55H 28 5 5 5 4 5 50

31 FEfE X 76 3 2 3 3.0

& H Paso doble

17 £H # 12 3 7 6 3.0

20 = = 4 6 5 4 4 4.0

21 A XX 33211 20

26 B & 5 7 6 6 2 7.0

271 k"R K R}k 2 11 2 3 1.0

20 5@ 28 6 4 7 5 5 6.0

31 FEfE X 7 5 4 3 7 50
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No. & F K % C S R P &i s
17 £H # 2.02.04.03.011.0 3.0
20 = =3 4.05.06.04.019.0 5.0
21 A XX 3.03.01.520 9.5 20
26 XA & 5,06.07.07.025.0 7.0
271 k"R R}k 1.01.01.51.0 45 1.0
20 ££@ 28 7.07.05.06.025.0 6.0
31 FEfE X 6.04.03.05.018.0 4.0
18 &

12 K& 1TH

23 iR 1T

30 FhilE #H#E

33 EfE
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BHRESME F K & N-b+F—% W B B
13003120 A #H & =F HBxEF 8 31
13003118 A ZEE BRX ST OEEF HE R s
13003814 D #ER =— I EE HE R s
12000001 N =t % HET  #F E 51
13002654 A AIEX XX =B HF g2
13003513 B JIIE 384 nNg =4 1%
13003209 A {£@& BA 1B BESE R 5
13000731 A /Mg IEE EiR =F 1%:8
13001015 C Mk B miE KF HE R s
13003156 A %i&B & K =F A D
19000004 N {£42K =Rk INE S EGH R D
13003011 A {£AR X5 (EAR FXE HE R s
13002112 A 5H &5 XH BEF 861
13003597 B JIIX NX =+ 1%
13000620 B mIfE REhE &H AH/TF E a4
13000127 A #E —BH T8 XET HE R s
13001197 A EE k& P 158
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